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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate
3. The numbers indicated against the Question ID and Option ID are the numbers to be noted and used for raising objections

Q1 The set representing the correct order of first ionization potential is:
Ans o 1. Be>Mg=>Ca

X2 B>C>N

X3 Ge=Si>C

X4 K>Na>Li

Question ID : 30261675
Option 11D : 302616298
Option 2 ID : 302616299
Option 3 1D : 302616300
Option 4 ID : 302616297
Status : Answered
Chosen Option : 4

Q.2 An object is placed in front of a convex mirror. What will be the nature of the image formed?

Ans (1.

Virtual, erect. diminished image between the Pole and Focus
/< 2. Virtual, erect image of the same size at C

/< 3. Virtual, erect. diminished image at F

/< 4 Real, inverted, diminished image between C and F

Question ID : 30261664
Option 11D : 302616256
Option 2 ID : 302616254
Option 3 1D : 302616255
Option 4 1D : 302616253
Status : Answered
Chosen Option : 4

Q.3




The figure that does not belong to the group is:
Ans K 1.D

<2 A
X 3B
v i
Question ID : 30261644
Option 11D : 302616176
Option 2 ID : 302616173
Option 3 ID : 302616174
Option 4 ID : 302616175
Status : Answered
Chosen Option : 4
Q4 46, 32, 64, 128, 256, , 1024, 2048; 3FHA & T°F TEAT FM:
Ans X 1. 521
v 2 512
< 3 502
X 4 524

Question ID :
Option 11D :

Option 2 ID
Option 3 ID
Option 4 ID

Status

30261636
302616141

: 302616142
: 302616144
: 302616143
. Answered

Chosen Option :

2
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ans X 1. 100P
v 2 960Z
< 3. 965D
X 4.1000Z
Question ID : 30261638
Option 11D : 302616152
Option 2 ID : 302616150
Option 31D : 302616151
Option 4 ID : 302616149
Status : Answered
Chosen Option : 2
Q.6 : 7
? 8
The diagram shows the number of students play football (F). Hockey(H) and basketball(B) in a class
Total number of student who play exactly two sport is:
ans X141
X2 54
X 3 80
W 4 39
Question ID : 30261651
Option 11D : 302616201
Option 2 ID : 302616202
Option 3 ID : 302616204
Option 4 ID : 302616203
Status : Answered
Chosen Option : 2
Q7 b cdd b c de
IIFT A H ALY 9E Bl A g
Ans X 1. Bdeb
# 2. Cdbd
/< 3 Bedb
v 4 Bebd
Question ID : 30261637
Option 11D : 302616147
Option 21D : 302616148
Option 31D : 302616145
Option 4 ID : 302616146
Status : Answered
Chosen Option : 4




Q.8 Find the difference between the compound interest and simple interest on 8,000 at 5% rate of interest for three years.

Ans X 1. %68
< 2 %58
X 3 %05
v 4 %61

Question ID : 30261612
Option 1 ID : 30261645
Option 2 ID : 30261647
Option 3 ID : 30261648
Option 4 ID : 30261646
Status : Not Answered
Chosen Option : --
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Question ID : 30261613
Option 11D : 30261651
Option 2 ID : 30261650
Option 31D : 30261652
Option 4 1D : 30261649
Status : Answered
Chosen Option : 4

Q.1 fZAar & 15% Hr WU affes &0 &7 X T 75,000 %07 form| a8 u=fyr 56 e 3y =t 8%

0 o fim, =8 = X T I T Twaft ¥ REw ¥ HOT & KA 2 T A€ 9% S an w1
HE?

Ans X 1.%1,786.5
X2 31,8875
v'3 21,6875
X4 21,8675

Question ID : 30261611
Option 1 ID : 30261644
Option 2 ID : 30261642
Option 3 1D : 30261643
Option 4 ID : 30261641
Status : Answered
Chosen Option : 2
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A, Thedl

C. 9 g
D. 9
Ans x 1. A
X2C
X3B
v 4D
Question ID : 30261646
Option 11D : 302616181
Option 2 1D : 302616183
Option 31D : 302616182
Option 4 ID : 302616184
Status : Answered
Chosen Option : 4
Q.1 vor-SEeeR 1 12 sHiEal $or T 6,48,816 F 9w W At $r afaeraar e Fr @et ofy afy =
2 gmr oz 52,283 W
Ans X 1. 4.05%
X 21221%
V'3 3.30%
X 4 8.74%
Question ID : 30261610
Option 11D : 30261640
Option 2 ID : 30261637
Option 31D : 30261638
Option 4 1D : 30261639
Status : Answered
Chosen Option: 3

Q1 o= = & IR Rl W 3 TR 9% FAE g0 990 a0 § B 9% ged @ 9 geat W T A
3 § =7 ¥ Few Fr AT g & o F TR F aEes e @eme ofy = Hr geds e Fr oA 28

cm &l

e X 32 em2
v'2 168 cm?
X3 40 cm?2
X4 42 cm2

Question ID : 30261618
Option 11D : 30261671
Option 2 ID : 30261672




Option 31D : 30261669
Option 4 1D : 30261670
Status : Answered
Chosen Option: 2
Q.1 Find the median height, if a survey of the heights (in cm) of 50 girls of Class X of a school
4 obtained the following data:
Height (in cm) Number of
girls
Less than 140 4
cm
Less than 145 11
cm
Less than 150 29
cm
Less than 155 40
cm
Less than 160 46
cm
Less than 165 50
cm
Ans X 1.145.03 cm
< 2.144.03 cm
v'3.148.89 cm
X 4. 149.03 cm
Question ID : 30261622
Option 11D : 30261688
Option 2 ID : 30261685
Option 31D : 30261687
Option 4 ID : 30261686
Status : Not Answered
Chosen Option : --
051 Mendel formulated the law of purity of gametes on the basis of:
Ans o 1. Monohybrid cross
/< 2. Dihybrid cross
/< 3. Test cross
& 4 Back cross
Question ID : 30261679
Option 11D : 302616316
Option 2 ID : 302616315
Option 31D : 302616313
Option 4 ID : 302616314
Status : Answered
Chosen Option : 2
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X 1. TH. @'WW
X2 3 Fea

v 5 ST e

X 4 TEE

Question ID : 30261684
Option 11D : 302616334
Option 2 ID : 302616333
Option 3 ID : 302616336
Option 4 ID : 302616335
Status : Answered
Chosen Option : 3
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e X s o el ¥
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V' BT dF 3w sUsar
X 4 ¥ T 3TE T S

Question ID : 30261699
Option 11D : 302616396
Option 2 ID : 302616393
Option 31D : 302616394
Option 4 ID : 302616395
Status : Answered
Chosen Option : 3
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X 4 gelrtet WHE

Question ID : 30261674
Option 11D : 302616295
Option 2 ID : 302616296
Option 31D : 302616293
Option 4 1D : 302616294
Status : Answered
Chosen Option: 3
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Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.

Question ID : 30261657
Option 11D : 302616225
Option 21D : 302616228
Option 31D : 302616227
Option 41D : 302616226
Status : Answered
Chosen Option: 2
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Question ID : 30261649
Option 11D : 302616195
Option 2 ID : 302616196
Option 3 ID : 302616194
Option 4 ID : 302616193
Status : Answered
Chosen Option : 2
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40
116
x 5 2
40
11s6
X e
20
Question ID : 3026163
Option 11D : 30261611
Option 2 ID : 3026169
Option 3 ID : 30261610
Option 4 ID : 30261612
Status : Answered
Chosen Option : 2
@2 Which of the following statements is/are true/false?Statement
A. The following is an example of reversible reaction
Na(g)T3Ha(g) «— 2NH3(g)
B. The following is an example of photolytic decomposition
heat
CaC0,(s) — Ca0(s) + CO,(g)
Ans  of 1. Only A is true
/< 2. A and B are both true
/< 3. A and B are both false
/< 4 Only B is true
Question ID : 30261671
Option 1 D : 302616281
Option 2 ID : 302616283
Option 3 ID : 302616284
Option 4 ID : 302616282
Status : Answered
Chosen Option : 1
Qéz If x < 5, then the sign of the value of the expression —5x*> + 2x + 7 is
Ans  of 1. Cannot say
/< 2. non-negative
/< 3. positive
/< 4 negative
Question ID : 30261623
Option 1 1D : 30261692
Option 2 ID : 30261691
Option 3 ID : 30261689
Option 4 ID : 30261690
Status : Answered
Chosen Option : 4




Q.2 Ineach question below is given a statement followed by two assumptions numbered I and II. You have to consider the
4 statement and the following assumptions and decide which of the assumptions is implicit in the statement.
Statement :
“Triple your money,” A tagline on a hoarding.
Assumptions:
L The assurance is not trustworthy.
L. People want to make money fast.

Ans o 1. Only assumption IT is implicit
< 2. Both I and II are implicit.
/< 3. Only assumption I is implicit
7< 4. Neither I nor II is implicit

Question ID : 30261633
Option 11D : 302616130
Option 2 ID : 302616132
Option 31D : 302616129
Option 4 1D : 302616131
Status : Answered
Chosen Option: 1
Q2 st v & TrfET st § ¥ B0 sete § 77 3oow ¢ gEne aeuee E
5 g fomam smeem?
Ans
X . He=eE 122
x 2 3-1@%3‘ 130
v 5 TGS 164
p Hﬂﬁh‘a 162
Question ID : 30261690
Option 11D : 302616360
Option 2 ID : 302616359
Option 31D : 302616358
Option 4 1D : 302616357
Status : Answered
Chosen Option : 3
°6'2 The phenotypic ratio in F, Generation is
Ans X1.1:2:5
X2 T899
v39:3:3:1
X41:2:3
Question ID : 30261680
Option 11D : 302616318
Option 2 ID : 302616320
Option 31D : 302616319
Option 4 1D : 302616317
Status : Not Answered
Chosen Option : --




Ans

X1 164
X2 132
V'3 154
X477

Q%Z 3 FEImHT ;1 RE. 22 T 9w 308 B wfT o vt § ¥ v " 44§, 99 1eF HEIT 4w g

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

3026162
3026166
3026165
3026167
3026168

Status : Answered
Chosen Option: 3
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(R-rurceir:|
X 2 Tar
v
X + gsF giEed
Question ID : 30261693
Option 11D : 302616371
Option 2 ID : 302616372
Option 31D : 302616369
Option 4 ID : 302616370
Status : Answered
Chosen Option: 3
Q.2
o 8IS AT g FE s T 7 Sy Tt T 27
Ans x .
1. oA
X2 afFEa
o 2 3EmET
X 4 FeaT ge8ur
Question ID : 30261689
Option 1 ID : 302616356
Option 2 ID : 302616355
Option 3 ID : 302616354
Option 4 ID : 302616353
Status : Answered
Chosen Option: 3
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W 2 3ErEr
X 3 =TT
X4 RS

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

30261697
302616388
302616387
302616385
302616386
Answered
2

1 flows through the current.

Q.3 A current of 0.75 A is drawn by a filament of an electric bulb for 10 minutes. Find the amount of electric charge that

Ans X1 240 C
X2225C
V'3 450C
X4270C
Question ID : 30261666
Option 1 ID : 302616262
Option 2 ID : 302616261
Option 31D : 302616263
Option 4 ID : 302616264
Status : Not Answered
Chosen Option : --
°é3 Which of the following Indian State Political Parties is led by CF Thomas?
Ans 1. National People’s Party
/< 2. Indian National Lok Dal
« 3. Kerala Congress (M)
/< 4. Hill State People’s Democratic Party
Question ID : 30261692
Option 11D : 302616367
Option 2 ID : 302616366
Option 31D : 302616368
Option 4 ID : 302616365
Status : Answered
Chosen Option : 3

ans o1 390
X2 42°
X 3 30°
X4 22°
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Question ID : 30261624




Option 11D : 30261696
Option 2 ID : 30261693
Option 3 ID : 30261694
Option 4 ID : 30261695
Status : Not Answered
Chosen Option : --
043 The force resulting from the action of muscles is known as the:
Ans - X 1. Mechanical Force
v 2 Muscular Force
/X 3. Body Force
# 4 Chemical Force
Question ID : 30261658
Option 1 ID : 302616229
Option 2 ID : 302616231
Option 3 ID : 302616232
Option 4 ID : 302616230
Status : Answered
Chosen Option : 2
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Question ID : 30261643
Option 11D : 302616169
Option 2 ID : 302616171
Option 31D : 302616172
Option 4 ID : 302616170
Status : Answered
Chosen Option : 1
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ans of 1428
X2 416
X 3 414




X 4432

Question ID : 3026165
Option 11D : 30261619
Option 2 1D : 30261618
Option 3 1D : 30261620
Option 4 1D : 30261617
Status : Answered
Chosen Option: 1
Q.3 132 m 3T 108 m & & T FAW 32 kmvh 3T 40 km/h #r 7Ty T Rada far F o= o § e
7 ¥ 9 v qEY F R e F 50 Bhael GHT w0
Ans « 1. 12 a +
X2 32 gehs
< 3 15 BFE
X 4 20 Ghs
Question ID : 30261615
Option 11D : 30261657
Option 2 ID : 30261660
Option 3 1D : 30261658
Option 4 ID : 30261659
Status : Answered
Chosen Option : 1
Q.3
s LPG &1 J&T Tc& F4T g7
Ans X e
v 2 e
X o o
X 4 A
Question ID : 30261665
Option 11D : 302616258
Option 2 ID : 302616257
Option 3 1D : 302616259
Option 4 ID : 302616260
Status : Answered
Chosen Option : 2
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Question ID : 30261640
Option 11D : 302616157
Option 2 ID : 302616159
Option 31D : 302616160
Option 4 ID : 302616158
Status : Answered
Chosen Option : 2
Q.4 . &
o ol & FET T uFa # Faa s Hisg I
b T————————xit: LY
A X146
X 2 64
< 3 65
v 4 56
Question ID : 30261669
Option 11D : 302616273
Option 2 ID : 302616274
Option 3 ID : 302616275
Option 4 ID : 302616276
Status : Not Answered
Chosen Option : --
Q_4 Read the given statement(s) and conclusions carefully and select which of the following conclusions logically follow(s) from the statement(s):
1
Statements:
L All women are flowers.
1L All flowers are trees.
Conclusions:
1. All women are trees.
1. All trees are women.
Ans X 1. Either I or II follows
< 2. Neither I nor II follows
+ 3 Only I follows
& 4 BothI and II follow
Question ID : 30261634
Option 11D : 302616135
Option 21D : 302616136
Option 31D : 302616133
Option 4 ID : 302616134
Status : Answered
Chosen Option: 3

Q.4
2

Ans x 1. Ca

is found in nature as a free element.




V2 Ag

X 3 Na
X 4 Al
Question ID : 30261668
Option 11D : 302616270
Option 2 ID : 302616271
Option 31D : 302616269
Option 4 ID : 302616272
Status : Answered
Chosen Option : 4
Q4 1o i wey e Rl R w18 3 60 RFt F T X Far §1 T FH T YT A &
3 s Fm sl A ms A T N A m iR R s L W FE A F
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Ans of 1. 32
X2 35
X316
X 4 36
Question ID : 30261614
Option 11D : 30261656
Option 2 ID : 30261653
Option 3 ID : 30261655
Option 4 ID : 30261654
Status : Answered
Chosen Option : 1
Q.4
2 6 I 2014 FT Fedg & HiF @r fea ar?
Ans x 1 &
- HATAdTT
X 2 UER
X 3 YFER
v 4 gEER
Question ID : 30261619
Option 11D : 30261673
Option 21D : 30261674
Option 31D : 30261675
Option 4 ID : 30261676
Status : Answered
Chosen Option : 3

5

Ans X 1.400 W
X 2200 J
Vs 400 J
X4 200 W

Q.4 v T 9fF ¥ 20 kg F T BT § AT W HF F 2 m FR 9 W W @A 7| 5HF @0
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Question ID : 30261661
Option 11D : 302616243
Option 2 ID : 302616241
Option 31D : 302616244
Option 4 ID : 302616242
Status : Answered
Chosen Option: 3

Ans x.l_ Hﬁqﬁ
v 2 3
X3 7T
?(4.%%

U R faeer fhew Tofee dfafRas &1 oféer few smwr o #r a8 o2

Question ID : 30261686
Option 11D : 302616343
Option 2 ID : 302616342
Option 31D : 302616344
Option 4 ID : 302616341
Status : Answered
Chosen Option: 3

G & 1 smer F TS wEA Aa

2,6, 12, 20, 302

is @ monocot.
Ans  of 1. Paphiopedilum
/< 2. Ipomoea

/< 3. Fern

/< 4. Spirogyra

Ans of 1. 42
X 2 45
<3 54
X 4 48
Question ID : 3026166
Option 1 1D : 30261623
Option 2 ID : 30261622
Option 3 ID : 30261624
Option 4 ID : 30261621
Status : Answered
Chosen Option : 1
Q.4

Question ID : 30261677
Option 11D : 302616307




Option 2 ID : 302616308
Option 31D : 302616305
Option 4 ID : 302616306
Status : Not Answered
Chosen Option : --
Q.4 ) .
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s K0 e
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v 3. ECTe
X 4 oferEaTe
Question ID : 30261682
Option 11D : 302616326
Option 2 ID : 302616327
Option 3 1D : 302616325
Option 4 ID : 302616328
Status : Answered
Chosen Option : 2
e £ FquiE F ETET ¥
0 3| ¥THA 2T £
fns X1 3T
X 2 FET SEHTFAET
X 3 R AAHEEES
V4 TR
Question ID : 30261676
Option 11D : 302616304
Option 2 ID : 302616301
Option 3 1D : 302616302
Option 4 1D : 302616303
Status : Answered
Chosen Option : 3

Q.5 Find the statement/s which is/are INCORRECT.
1 A. The value of G depends on some other masses kept nearby.

B. The ratio of the force of gravitation between two masses M* and M? kept at a distance R on the earth and on the
moonis 1:6.

C. The SIunit of G is Nm? /k g2
Only C

Only A

Only B

4 A,Band C

Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.

Ans 1.

3.

Question ID : 30261659
Option 11D : 302616235




Option 2 ID : 302616234
Option 31D : 302616233
Option 4 ID : 302616236
Status : Not Answered
Chosen Option : --

Qé5 T & & 7 & &1 2021 F Tger aR W T S PR H FEEr FEm?

Ans x 1. TF
v 2 e
X 3. grEeTeer
Question ID : 30261681
Option 11D : 302616322
Option 2 ID : 302616321
Option 31D : 302616323
Option 4 ID : 302616324
Status : Answered
Chosen Option : 2
Q.5 .
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Question ID : 30261694
Option 11D : 302616376
Option 21D : 302616373
Option 31D : 302616374
Option 4 ID : 302616375
Status : Answered
Chosen Option : 3
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Question ID : 30261678

Option 11D : 302616312
Option 2 ID : 302616310
Option 31D : 302616311
Option 4 1D : 302616309




Status : Answered
Chosen Option : 1
Q.5 Mr. Z, who is facing east, turns left and walks 5 km to reach point A. He then turns left and walks 4 km to reach point B.
5  Then he turns right and walks 3 km to reach point C. Then he turns right and walks 10 km reach point D.
‘Which direction is Mr. Z now from his starting point?
Ans X 1. North
v’ 2. North-gast
< 3. West
# 4 North-west
Question ID : 30261654
Option 11D : 302616216
Option 2 ID : 302616214
Option 3 ID : 302616215
Option 4 1D : 302616213

Status : Answered
Chosen Option : 2

065 N.C. Bordoloi indoor stadium is located in which state?

Ans  of 1. Assam

/< 2. Bihar
/< 3. Maharashtra
/< 4 Punjab
Question ID : 30261683
Option 11D : 302616329
Option 2 ID : 302616330
Option 3 1D : 302616332
Option 4 1D : 302616331
Status : Answered
Chosen Option: 3
Q.5
7 #sa % v eafa & sew g &
Ans
/< 1.10 Hz & 10000 Hz
v 2. 20 Hz & 20000 Hz
/<310 Hz & 1000 Hz
X 410 Hz & 2000 Hz
Question ID : 30261663
Option 11D : 302616251
Option 2 ID : 302616252
Option 3 1D : 302616249
Option 4 1D : 302616250
Status : Answered
Chosen Option : 2
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Ans

X1 g =
X 2 qEERTS g

v 3 =T T e Tue

X 4 & aeT
Question ID : 30261695
Option 11D : 302616379
Option 2 ID : 302616378
Option 3 ID : 302616380
Option 4 1D : 302616377
Status : Answered
Chosen Option : 3
Qés Which of the following is INCORRECT about energy conversion?
Ans x 1.
Chemical energy is converted into electrical energy using an electric cell.
v 2
Electrical energy is converted into mechanical energy using an electric heater.
X 3.
Heat energy is converted into electrical energy in thermal power stations.
X a
Electrical energy is converted into light energy using an electric bulb.
Question ID : 30261662
Option 11D : 302616246
Option 2 ID : 302616247
Option 3 ID : 302616245
Option 4 1D : 302616248
Status : Answered
Chosen Option : 2
Q6 Feemor &, BELT &1 1419 & &7 & fr@r srar 1 NAIL & fow 1 &= gem?
Ans X' 1. 3082
<2 3181
Vv 3 3081
< 4 4081
Question ID : 30261628
Option 11D : 302616111
Option 2 ID : 302616110
Option 3 1D : 302616109
Option 4 1D : 302616112
Status : Answered
Chosen Option: 3

Q.6




Ans

Given below are three statements followed by two conclusions numbered | and Il. You have to
consider the statements to be true, even if they seem to be at variance from commonly known
facts. Decide which of the conclusions follow/s from the statements.

Statements:
1) All lawyers are professionals.
2) Some lawyers are intelligent.

3) No intelligent is rich.

Conclusions:
1) At least some lawyers being rich is a possibility.

1) All lawyers, if they are intelligent, are also rich.

2 1. Only conclusion Il follows

X 2. Neither conclusion | nor Il follow
+ 2 Only conclusion | follows

X 4 Both conclusions | and Il follow

Question ID : 30261630
Option 11D : 302616118
Option 21D : 302616120
Option 31D : 302616117
Option 4 1D : 302616119
Status : Answered
Chosen Option : 3
@6 Which of the following has the lowest density?
Ans 1. Sodium
2. Liquid
3. Mercury
4. (338
Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.
Question ID : 30261667
Option 11D : 302616267
Option 21D : 302616266
Option 31D : 302616268
Option 41D : 302616265
Status : Answered
Chosen Option : 3
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

30261648
302616190
302616189
302616192
302616191
Answered

1

Q.6 v oy Fr FFEEIT 8000 7| T TE Fr wEAw F 8% iR Afgenaft Fr wwwm #H 12% f g AH ¥
4 & ST 8680 g FM| e # Aenst # E@ W=

Ans X 1. 2500
< 21500
v 31000
X 42000

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 41D :

Status :

Chosen Option :

30261616
30261664
30261663
30261661
30261662
Answered
3
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:
Chosen Option :

30261635
302616140
302616137
302616138
302616139
Answered
2
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ans X1.g 123
K23 127
<33 113
v 43117
Question ID : 30261621
Option 1 ID : 30261684
Option 2 ID : 30261682
Option 31D : 30261681
Option 4 ID : 30261683
Status : Answered
Chosen Option : 1
Q.6
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Ans x1~ E
X2D
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Question ID : 30261645
Option 11D : 302616178
Option 2 ID : 302616180
Option 31D : 302616177
Option 41D : 302616179
Status : Answered
Chosen Option : 4
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Question ID : 30261655
Option 11D : 302616219
Option 2 ID : 302616217
Option 31D : 302616218
Option 4 ID : 302616220
Status : Answered
Chosen Option: 3
Q.6 :
o W% ¥ ReRf@a # @ 5w arg &1 #rer a1 gear 32
Ans x
1. m
v @ifzaA
X o HegHIATH
X 4 greT
Question ID : 30261672
Option 1 ID : 302616288
Option 2 ID : 302616286
Option 3 ID : 302616287
Option 4 ID : 302616285
Status : Answered
Chosen Option : 2
UV Rrefaftd # @ e aue & 413 quia @5 F w7 & gy & o4
Ans -
X . T & sy
X 2 959 cge
v 3 F A AT e
X 4 9T ST &3
Question ID : 30261687
Option 1 ID : 302616346
Option 2 ID : 302616348
Option 3 ID : 302616347
Option 4 ID : 302616345
Status : Answered

Chosen Option: 3
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Question ID : 3026168
Option 11D : 30261629
Option 2 1D : 30261630
Option 31D : 30261631
Option 4 ID : 30261632
Status : Answered
Chosen Option : 2
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Question ID : 30261639
Option 11D : 302616156
Option 21D : 302616153
Option 31D : 302616155
Option 4 ID : 302616154
Status : Answered
Chosen Option : 1

%7 The reciprocal of 12 is:

v 2

Ans
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X2

p
p

i) W Wk

Labd Pt

Question ID : 3026164
Option 11D : 30261616
Option 21D : 30261615
Option 31D : 30261613
Option 41D : 30261614
Status : Answered
Chosen Option: 1

Q.7 Which pattern will the given transparent sheet resemble when it is folded at the dotted line?
4
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

30261653
302616212
302616211
302616210
302616209
Not Answered
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

30261691
302616363
302616362
302616364
302616361
Not Answered

% SpemE 2007 F TWeh YRR T TG W A
Ans X 1.2, 9, 16, 23, 30

X25, 12,19, 26

V3 8, 13, 20, 27

X7, 14, 21, 28

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

30261620
30261679
30261680
30261678
30261677
Answered
2
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Question ID : 30261698
Option 1 ID : 302616389
Option 2 ID : 302616390
Option 3 1D : 302616392
Option 4 ID : 302616391
Status : Answered
Chosen Option : 4
Q§7 T v Faa Ak foraet @1 99 i e @ afes w1 @ agwe F A e/t @ oaae
|
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Ans
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Question ID : 30261632
Option 1 ID : 302616125
Option 2 ID : 302616127
Option 31D : 302616126
Option 4 ID : 302616128
Status : Answered
Chosen Option : 4
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X314
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Question ID : 30261650




Option 11D : 302616199
Option 2 1D : 302616198
Option 3 ID : 302616197
Option 4 ID : 302616200
Status : Answered
Chosen Option : 4

Q.8 The property of carbon due to which its atom can join with one another to form long carbon chains, called:
0

Ans X 1. single covalent
/< 2. triple covalent
/< 3. allotropy

« 4 catenation

Question ID : 30261673
Option 11D : 302616290
Option 2 ID : 302616289
Option 31D : 302616292
Option 4 1D : 302616291
Status : Answered
Chosen Option : 3
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K 3 AT AR e
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Question ID : 30261626
Option 11D : 302616103
Option 2 ID : 302616101
Option 31D : 302616104
Option 4 1D : 302616102
Status : Answered
Chosen Option : 4
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Ans | 78
2. 80
3. 85

4. 75

Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.




Question ID : 30261652
Option 1 ID : 302616207
Option 2 ID : 302616208
Option 3 ID : 302616205
Option 4 ID : 302616206
Status : Not Answered
Chosen Option : --
Qés e T F TF o 30% T & AT, & 3HF SIS F hE H gfaEar A= H
Ans X 1. 84 %
X272 %
V'3 69 %
X 4112 %
Question ID : 30261617
Option 11D : 30261666
Option 2 ID : 30261665
Option 3 1D : 30261667
Option 4 ID : 30261668
Status : Answered
Chosen Option: 3
Q.8 2016 &, 9T few 7 & FHT T AR Ry IR (mévATedn) F wEftE B o st
ﬁﬁmwmmﬁﬁa@?ﬁqﬁm*mﬁmﬁwm?ﬁmﬁmﬁ
STeeraar fraet gEga # 4?
A X182
X252
V3 72
X4 6.2
Question ID : 302616100
Option 11D : 302616400
Option 2 ID : 302616397
Option 31D : 302616398
Option 4 ID : 302616399
Status : Answered
Chosen Option : 3

Ans <1900
X 2 550
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V'3 350

X 4 2000
Question ID : 30261642
Option 11D : 302616165
Option 21D : 302616166
Option 31D : 302616167
Option 41D : 302616168
Status : Not Answered
Chosen Option : --
Q.8 - = ‘
¢ Which of the following possesses potential energy?
Ans 1. A falling coconut
/< 2. A running athlete
/< 3. A flying aircraft
v 4 Water in a dam
Question ID : 30261660
Option 11D : 302616237
Option 2 ID : 302616239
Option 3 ID : 302616240
Option 4 ID : 302616238
Status : Answered
Chosen Option: 1
Q.8
S GHE AR A AT TR an
Ans «1% ? aaﬁr
X2 F . OTAES
X 3 wdded
By
X 4 BTeed
Question ID : 30261656
Option 11D : 302616223
Option 2 ID : 302616224
Option 3 ID : 302616221
Option 4 ID : 302616222
Status : Answered
Chosen Option: 3

Q.8 Consider the following statements to be true even if they seem to be at variance from commonly known facts and decide
8  which of the conclusions logically follows from the statements.

Statements:
* All pigeons are doves.
* All doves are oriental rollers.

Conclusions:

1. All oriental rollers are doves.
2. All pigeons are oriental rollers.

Ans o 1. Only conclusion 2 follows
7< 2. Only conclusion 1 follows




/< 3. Either conclusion 1 or 2 follows

/< 4 Both conclusions 1 and 2 follow

Question ID : 30261627
Option 1 ID : 302616106
Option 2 ID : 302616105
Option 31D : 302616108
Option 4 ID : 302616107
Status : Answered
Chosen Option : 3
Q-8 oy e 1 TIF Tolew AT e w AH B 3 #2017 & 2016 F T ‘gEwERE ek
9 geEwr femm amn, Fwr 2
Ans
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X . FAST FAR
< 2. Flelalll
X 3. ofeT
4 FEATYAT reTary
Question ID : 30261685
Option 1 ID : 302616337
Option 2 ID : 302616339
Option 31D : 302616338
Option 4 ID : 302616340
Status : Answered
Chosen Option : 4
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o MEIT FH ggET FI
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as X1 B
v C
<3 A
X 4D
Question ID : 30261647
Option 11D : 302616186
Option 2 ID : 302616187
Option 3 ID : 302616185
Option 4 ID : 302616188
Status : Answered
Chosen Option : 1
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X 3 Thread
X 4 Silver
Question ID : 30261629
Option 11D : 302616113
Option 2 ID : 302616114
Option 31D : 302616115
Option 4 ID : 302616116
Status : Answered
Chosen Option : 1
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

30261631
302616123
302616121
302616122
302616124
Answered
2
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Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :
Status :
Chosen Option :

3026169
30261633
30261634
30261635
30261636
Not Answered
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Question ID : 30261625
Option 11D : 302616100
Option 2 ID : 30261699
Option 3 1D : 30261698
Option 4 ID : 30261697
Status : Not Answered
Chosen Option : --
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Question ID : 30261688
Option 11D : 302616349
Option 2 ID : 302616352
Option 31D : 302616351
Option 4 ID : 302616350
Status : Not Answered
Chosen Option : --

Ans o 1. product of those three numbers
/< 2. product of two maximum value numbers

/< 3. maximum of the three numbers

/< 4 minimum of the three numbers

°6'9 The maximum possible value of LCM of three given numbers is:

Question ID : 3026161
Option 11D : 3026164
Option 2 ID : 3026163
Option 31D : 3026161
Option 4 1D : 3026162
Status : Answered
Chosen Option: 1

Y g & T
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Question ID : 30261696
Option 1 ID : 302616382




Option 2 ID : 302616383
Option 3 1D : 302616384
Option 4 1D : 302616381
Status : Answered
Chosen Option : 2

Qég Fill in the blank in the following sentence from the options given below.

___ substance possesses Van der Waal’s forces of attraction.
Ans 1. Carbon dioxide

2. Hydrogen

3. Argon

4. Carbon monoxide

Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.

Question ID : 30261670
Option 11D : 302616279
Option 2 ID : 302616277
Option 31D : 302616278
Option 4 1D : 302616280
Status : Answered
Chosen Option : 2

The pie graph represents the expenditure of a publishing house in Karnataka
The central angle of the sector corresponding to the expenditure of transportation is degrees.

Ans X 1. 54
v 2 36
X372
X 490

Question ID : 30261641
Option 11D : 302616162
Option 2 ID : 302616161
Option 31D : 302616163
Option 4 1D : 302616164
Status : Answered
Chosen Option : 2
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Question ID : 3026167
Option 11D : 30261627
Option 21D : 30261626
Option 31D : 30261625
Option 4 1D : 30261628
Status : Answered
Chosen Option : 4




